‘‘‘ =

BARADESERELE(2005FM) IZHITHEF - BHILIITEKE TS

=& 3

BEEmESE (—ER )
{(ITHIILF—(kcal.”B)>
L] 7
0~5nA BILEER 600 550
ANIILFEER 650 600
6~11/mA 700 650
15 1,050 950
{(FzAlE&E (e B)
E:] £
wErs| wes | Bz [T wes | axs
0~5mhg BELEER - - 10 - - 10
AL EER - — 15 - - 15
6~11mA BIEER - - 15 - - 15
AL RER - - 20 - - 20
1% 15 20 - 15 20 _
(IEE>
BT 4ILF—E (I -)
5 E:S
BxE2 | BEZsS|BXRE|HEE
0~5mA 50 — 50 —
6~11mH 40 — 40 —
201 E 20 E
148 — |30k — |30kiE
(KBEHEH3)
EA22B, (mg/B)
5 ‘ gy
B | wee | axz (METS| wes | oz
0~5hH — — 0.1 — — 0.1
6~11MmB — — 0.3 — - 0.3
1% 0.4 0.5 — 0.4 0.5 —
B Tk
0~5mH — — 0.3 — — 0.3
6~11mH — — 0.4 — — 0.4
185 05 06 — | 04 0.5 —
FALF 2 (mgNE/B)
HiE it
T BETY
pEx |#Es |Bxs |nER |kRs |ARE
0~5AAH — — 2 — — 2
6~11mAH — — 3 — — 3
158 5 6 — 4 5 —




E4232C(mg/H)
Bt i
HETS TEEER
SHEE [HEE |BEE |KWES |EEE |BR=E
0~5MH - — 40 — — 40
6~11MF - — 40 — — 40
15% 35 40 - 35 40 —
(REBHEE A3
E43A(ugRE/B)
E] S
e | e | emet |07 mn | mxn' | 1R
0~5/mA — — 250 600 — — 250 600
6~11mA — — 350 600 — — 350 600
15% 200 250 — 600 150 250 — 600
T ZOoraz-haT/FEED, 2 FOrssu-hns/ARESERL,
E42z2D(ueg 8}
=2 =
BxE | tE2 | BE%ZE | LEE
o~5mA" 2506)| 25 | 25(5)| 25
6~11mp" 4(5) 25 4(5) 25
1% 3 25 3 25
' EEGERASHARECHIAROERE. ( YRIZ. BEERTAELALEVLROERE,
(SRS
Ao Li{mg )
E:) E:S
Bxe | B2 | B%R | gEs
O~5mF BHFER 200 — 200 —
AIEFER | 300 — 300 —
6~11/mF BAEER 250 — 250 —
AIIFEER | 400 — 400 —
185 450 450 400 400
{(MEx®H)
g (mg”H)
Bt %
BN ezme | aze | rma (MEED) pes | axs | tmE
O~5/mMF BIREER — — 0.4 - - - 0.4 -
ATILEER| — — 7.7 — — — 7.7 —
6~11MH 45 6.0 — — 40 55 — —
1% 40 55 — 25 35 5.0 — 20




(&%)

FARYE (FRE6E) HRADKEMREE"

Ir)L¥— F=AEE _
(kcal) () E?%tlt;}(l;n)
B i 2 Z
O A ~ 120/ke 3.0/ke 45
2ME ~ 110/ke 2 4/kg 45
6/ H ~ 100/kg 2.8/ke 30~40
18 960 920 30 30] 25~30
E4azoA | EREUB, | ERIVUB, | 74Py | E43C | E4ILD
() (mg) {mg) (mg)
( (IU)
2| % z | 8| x| 8] % me)
OMmA~ 1,300 0.2 0.3 4
oM E ~ 1,300 0.3 0.4
6MmH~ 1,000 0.4 05 40 400
158 1,000| 1,000 04| 04| 05 05 6 6
AN L &%
(g} (mg)
) & z
OME ~ 05
oM E ~ 05
6 H~ 0.5
1% 05 05 7 7
* [T BSLOEXRI|(ER7E)AEHRSORERESR




